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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1 420 2.5 1.3 5 49 100

2 420 2 1.4 5 39.6 100

3 420 2.6 1.4 5 52.5 100

4 420 2.9 0.9 4 71.7 100

5 420 1.9 1.1 4 47.9 100

6 420 2.8 1.3 5 55.2 100

7 418 2.9 1.8 6 47.5 99.5

8 418 2.6 1.6 5 51.7 99.5

9 418 1.6 1.4 6 26 99.5
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Transcript 3 
 
Section 1  
 
Zürich liegt in der deutschsprachigen Schweiz. In der Stadt gibt es die sogennante 
Zürichkarte zu kaufen. Die Karte kostet SFR 27 und hat Vorteile. Man kann mit dieser Karte 
einen Bootsausflug zum halben Preis buchen und man bekommt kostenlosen Eintritt in die 
Museen und Kunstgalerien.  
 
Section 2  
 
Von Zürich aus kann man andere Regionen der Schweiz einfach erreichen, besonders mit 
der Bahn. Die schweizer Züge sind weltbekannt. Man soll unbedingt Schaffhausen 
besuchen. Dort befindet sich der größte Wasserfall Europas. Letztes Jahr haben mehr als 
100,000 Leute den Wasserfall besichtigt. Schaffhausen liegt an der Grenze und von dem 
Dom aus hat man einen tollen Blick auf ein anderes Land - Deutschland!  
 
 
Question 3 [5] 
 
Listen to this Swiss radio report about Zürich and district.  
 
Answer the questions in English.  
 
Section 1  
 
(a) What fact are you first told about Zürich? [1] 
 


it’s in the German speaking part (of Switzerland)/they speak German there.  
 
(b) Why should people take advantage of the Zürich card? 


Write one detail. [1] 
 


you can book a boat trip for half price / get free entry to museums / art galleries 
(any 1)  


 
 
Section 2  
 
(c) What, according to the report, is Switzerland world famous for? [1] 
 


its trains / railway  
 
(d) Why have so many people visited Schaffhausen? [1] 
 


to see/visit (Europe’s biggest) (a) waterfall  
 
(e) What can be seen from the cathedral? [1] 
 


another country / Germany  
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3.	 Listen to this Swiss radio report about Zürich and district. 


	 Answer the questions in English.	 [5]


	 Section 1


	 (a)	 What fact are you first told about Zürich?	 [1]


	


	 (b)	 Why should people take advantage of the Zürich card?
		  Write one detail. 	 [1]


	


	 Section 2


	 (c)	 What, according to the report, is Switzerland world famous for?	 [1]


	


	 (d)	 Why have so many people visited Schaffhausen?	 [1]


	


	 (e)	 What can be seen from the cathedral?	 [1]


	


(3820UB0-1)
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Transcript 8 
 
Section 1  
 
Reporterin: Konrad ist heute im Studio. Wie oft benutzt du das Internet? 
 
Konrad: Im Moment nur ab und zu. Früher war ich jeden Tag stundenlang im Internet 


oder am Handy. 
 
Reporterin: Warum? Ist das Internet dir jetzt langweilig? 
 
Konrad: Nein natürlich nicht. Ich bin mit einigen Freunden Mitglied in einem internet- 


und handyfreien Klub. Wir sind uns einig, dass wir weniger Technologie 
benutzen werden. Wir finden es wichtig, Zeit miteinander richtig zu verbringen 
und nicht immer in der virtuellen Welt.  


 
Section 2  
 
Reporterin: Das hört sich gut an. Was sind denn die Regeln des Klubs?  
 
Konrad: Es gibt bestimmte handyfreie Zeiten, zum Beispiel in der großen Pause. Dann 


reden wir miteinander statt per SMS. Sogar unsere Eltern machen mit. Beim 
Frühstück oder Abendessen gibt es jetzt Handyverbot, denn viele Eltern 
hängen genauso oft am Handy wie die Kinder! 


 
Reporterin: Toll. 
 
Konrad: Das Positive ist auch, seitdem ich im Klub bin, gehe ich öfter ins 


Fitnesszentrum und ich schlafe viel besser.  
 
 
Question 8 [5] 
 
Konrad is talking to a local radio reporter about technology. 
 
Answer the questions in English. 
 
Section 1  
 
(a) How have Konrad’s Internet habits changed?  


Write one detail.  [1] 
 


only on internet now and again / used to spend hours on internet or phone (any 1)  
 
(b) What do the friends consider to be important?  


Write one detail.  [1] 
 


to (properly) spend time together /not always be in the virtual world any 1  
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8.	 Listen to Konrad talking to a local radio reporter about technology. Answer the questions in 
English.	 [5]


	 Section 1


	 (a)	 How have Konrad’s Internet habits changed?
		  Write one detail.	 [1] 


	


	 (b)	 What do the friends consider to be important?
		  Write one detail. 	 [1]


	


	 Section 2


	 (c)	 When is the use of mobile phones restricted?
		  Write one detail.	 [1]


	


	 (d)	 Why does Konrad find club membership a good thing?	
		  Write two details.	 [2]


	


	


(3820UB0-1)
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Transcript 9 
 
Section 1  
 
Die meisten deutschen Teenager finden es schwierig früh aufzustehen, um zur Schule zu 
gehen. Viele Kinder in armen Ländern würden aber gerne zur Schule gehen. Sie können 
aber nicht, weil sie arbeiten müssen. Weltweit betrifft das 170 Millionen Jungen und 
Mädchen zwischen 5 und 17 Jahren. Der Welttag gegen Kinderarbeit am 12. Juni erinnert 
daran. Offiziell ist Kinderarbeit verboten. Viele Kinder müssen aber einen Job finden, damit 
die Familie nicht obdachlos wird.  
 
Section 2  
 
Kinderarbeit kann ganz unterschiedlich sein. Die Kinder und jungen Leute finden Jobs zum 
Beispiel auf einem Bauernhof oder auf dem Feld. Oft müssen Kinder 12 Stunden am Tag 
arbeiten. Das ist besonders anstrengend. Um das Problem zu lösen, müssen die 
Regierungen mehr Geld für Ausbildung ausgeben.  
 
 
Question 9 [6] 
 
Listen to this podcast about children working and answer the questions in English. 
 
Section 1  
 
(a) What do German teenagers find difficult? [1] 
 


getting up early (in the mornings) (for school)  
 
(b) What suggests that child labour is an important issue worldwide?  


Write one detail. [1] 
 


170 million children are affected/ special day dedicated to the issue  
 
(c) Why do many children have to find work? [1] 
 


so that their family doesn’t become homeless.  
 
 
Section 2  
 
(d) Where do some children find work?  


Write one detail [1] 
 


On a farm / working in the fields (any 1) 
 
(e) How long do they often work? [1] 
 


12 hours a day  
 
(f) What does the report suggest governments do to help solve this problem? [1] 
 


spend more money on education 
 
 
 
3820UB0-1 WJEC GCSE German - Unit 2 HT MS S22/DM 
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9.	 Listen to this podcast about children working and answer the questions in English.	 [6]


	 Section 1


	 (a)	 What do German teenagers find difficult?	 [1] 


	


	 (b)	 What suggests that child labour is an important issue worldwide?
		  Write one detail. 	 [1] 


	


	 (c)	 Why do many children have to find work? 	 [1] 


	


	 Section 2


	 (d)	 Where do some children find work? 
		  Write one detail. 	 [1]


	


	 (e)	 How long do they often work?	 [1]


	


	 (f)	 What does the report suggest governments do to help solve this problem?	 [1]


	


END OF PAPER







